8

8§ 8 2
18 8 2

8§ 18 18 8 2

8§ 18 32 18 8 2

10
18
36
54

86




.(He)

. 3.00



I 1l I
0.9 1.2 1.5
NaCl MgCl, AICI,
3-0.9=2.1 3-1.2=1.8 3-1.5-1.5
810 714 190

1465 1412

)
(
1,7

(NaCl)




Na+

Cdupiigh © T VoG gm 1 Sirngesben. 2. Sevrisens sl lE e oo o depliy

-* ol An ionically-bonded
molecule

CI' ,Na'
2 (2)
(MgCl,)
(Mg™)

Mg+ 2C1 — Mg”" +2CI' = MgCl,
2,8,2) (2,8,7) (2,8) (2,8,8)



Cr Mg
MgCl, Ar

Na*

Sodium Chicride Crystal Structure

Na®

Ne

. Cr



(2.1

(1.7

(CI) (Na")

2.5



(HF)
(2.1) 4)
(& )
HF (8+ )
HCI
1)
)
.Debye (D) (
H,O0 NH;
€&
) L 104.5°
147D H
C=0 . C02
«—t +—>
O C O

(1



- Cl,

( CI-C1)

C| :(:3]:

(H; )

He+ He — = HgH

1 0,

Ne

( 2

8 8 2)



QO +:0 —>» OO or <O=O>

each oxygen
has 8 electrons
in the valence shell

. CO,
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N=N
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means that they
are sharing
6 electrons
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Valence Bond Theory :

. (Spin )
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ELECTROSTATIC POTENTIAL MAP
and PARTIAL CHARGES

NH3 NF3

Red = negative charge ‘
Blue = positive charge
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Combine o generate
three sp? orbitals
v v ¥
Which are
X = X — X represented
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Ion-Dipole Attraction :

HzO Na+
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Water surrounding Water surrounding
a cation an anion
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Spherical atom with no dipole.

The dot indicates the location
of the nucleus.

@

Upon approach of a charged ion,
electrons in the atom respond and
the atom develops a dipole.
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